
§·¤æ§ü / Unit-I

1. â×-âè×æ‹Ì ©UÂØôç»Ìæ çÙØ× ·¤è ¥æÜô¿Ùæˆ×·¤
ÃØæBØæ ·¤èçÁ°Ð

Critically explain the law of equi-marginal
utility.

¥Íßæ / OR

×æ¡» ·¤è ·¤è×Ì Üô¿ ·¤ô çßSÌæÚU âð â×Ûææ§°Ð

Explain in detail the price elasticity of
demand.
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§·¤æ§ü / Unit-II

2. ©UÎæâèÙÌæ ß·ý¤ @Øæ ãñU? ©UÎæâèÙÌæ ß·ý¤ ·¤è
çßàæðáÌæ¥ô´ ·¤ô çßSÌæÚU âð â×Ûææ§°Ð

What is indifference curve ? Explain in detail
the characteristics of indifference curve.

¥Íßæ / OR

©UÂÖô@Ìæ ·¤è Õ¿Ì âð ¥æÂ @Øæ â×ÛæÌð ãñ´U?
©UÂÖô@Ìæ ·¤è Õ¿Ì ·¤è ¥æßÏæÚU‡ææ ·¤æð çßSÌæÚU âð
â×Ûææ§°Ð

What do you understand by consumer’s
surplus ? Explain in detail the concept of
consumer’s surplus.

§·¤æ§ü / Unit-III

3. Âñ×æÙð ·ð¤ ÂýçÌÈ¤Ü ·ð¤ çÙØ× ·¤ô çßSÌæÚU âð
â×Ûææ§°Ð

Explain in detail the law of Returns to Scale.

¥Íßæ / OR

çÙ`ÙçÜç¹Ì ÂÚU â¢çÿæŒÌ çÅUŒÂç‡æØæ¡ çÜç¹° Ñ

(a) çßSÌæÚU ÂÍ

(b) ©UˆÂæÎÙ È¤ÜÙ

( 2 )
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Write short notes on the following :
(a) Expansion Path
(b) Production Function

§·¤æ§ü / Unit-IV

4. °·¤æçÏ·¤æÚU ·ð¤ ¥‹Ì»üÌ È¤×ü ·ð¤ âæ`Ø ·¤è çßßð¿Ùæ
·¤èçÁ°Ð

Discuss the equilibrium of a firm under
monopoly.

¥Íßæ / OR

çÙ`ÙçÜç¹Ì ÂÚU â¢çÿæŒÌ çÅUŒÂç‡æØæ¡ çÜç¹° Ñ

(a) ×æñç¼ý·¤ Üæ»Ì

(b) ¥ßâÚU Üæ»Ì

Write short notes on the following :
(a) Monetary cost
(b) Opportunity cost

§·¤æ§ü / Unit-V

5. °·¤æçÏ·¤æÚUæˆ×·¤ ÂýçÌØôç»Ìæ ·ð¤ ¥‹Ì»üÌ °·¤ È¤×ü ·ð¤
¥ËÂ·¤æÜèÙ °ß¢ Îèƒæü·¤æÜèÙ â¢ÌéÜÙ ·¤ô â×Ûææ§°Ð

Explain the short-term and long-term equilibrium
of a firm under monopolistic competition.

¥Íßæ / OR



( 4 )

DRG_9_(4) 720

¥ËÂæçÏ·¤æÚU ·ð¤ ¥‹Ì»üÌ ·¤è×Ì ÙðÌëˆß ×æòÇUÜ ·¤ô
â×Ûææ§°Ð

Explain the price leadership model under
oligopoly.

———



§·¤æ§ü / Unit-I

1. ÚUæcÅþUèØ ¥æØ ·¤ô ÂçÚUÖæçáÌ ·¤èçÁ°Ð §â·¤è çßçÖ‹Ù
ÏæÚU‡ææ¥ô´ °ß¢ ×æÂ ·¤è çßçÏØô´ ·¤æ ß‡æüÙ ·¤èçÁ°Ð

Define National Income. Describe its different
concepts and methods of measurement.

¥Íßæ / OR
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×õç¼ý·¤ ÂýßæãUô´ °ß¢ ßæSÌçß·¤ ÂýßæãUô´ ×ð´ @Øæ ¥‹ÌÚU
ãñU? ¿æÚU-ÿæð˜æèØ ¥ÍüÃØßSÍæ ×ð´ ¥æØ ·ð¤ ¿·ý¤èØ
ÂýßæãU ·¤è ÃØæBØæ ·¤èçÁ°Ð

What is the difference between monetary
flows and real flows ? Explain the circular
flow of income in four-sector economy.

§·¤æ§ü / Unit-II

2. ÚUôÁ»æÚU ·ð¤ ÂýçÌçcÆUÌ çâhæ‹Ì (Áð0 Õè0 âð) ·¤ô
â×Ûææ§°Ð ç·¤Ù ·¤æÚU‡ææð´ âð ·¤è‹â Ùð §â·¤è
¥æÜô¿Ùæ ·¤è?

Explain the Classical theory (J. B. Say) of
employment. For what reasons the Keynes
criticized it ?

¥Íßæ / OR

·¤è‹â ·ð¤ ÚUôÁ»æÚU çâhæ‹Ì ·¤ô â×Ûææ§° ÌÍæ
ÂýçÌçcÆUÌ °ß¢ ·¤è‹â ·ð¤ ÚUôÁ»æÚU çâhæ‹Ìô´ ·¤è ÌéÜÙæ
·¤èçÁ°Ð

Explain the Employment theory of Keynes and
compare the Classical and Keynesian
employment theories.

§·¤æ§ü / Unit-III

3. ©UÂÖô» È¤ÜÙ âð @Øæ ¥æàæØ ãñU? ¥ÂÖô» È¤ÜÙ
·¤ô ÂýÖæçßÌ ·¤ÚUÙð ßæÜð ·¤æÚU·¤ô´ ·¤è ÃØæBØæ ·¤èçÁ°Ð

( 2 )
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What is the meaning of consumption
function ? Explain the factors affecting
consumption function.

¥Íßæ / OR

çÙ`ÙçÜç¹Ì ©UÂÖô» È¤ÜÙ çâhæ‹Ì ×ð´ âð ç·¤‹ãUè´
Îô ·¤æ â¢çÿæŒÌ ÃØæBØæ ·¤èçÁ° Ñ

(a) çÙÚUÂðÿæ ¥æØ ÂçÚU·¤ËÂÙæ

(b) SÍæØè ¥æØ ÂçÚU·¤ËÂÙæ

(c) ÁèßÙ ¿·ý¤ ©UÂ·¤ËÂÙæ

Briefly explain any two of the following
consumption function theories :
(a) Absolute Income Hypothesis
(b) Permanent Income Hypothesis
(c) Life Cycle Hypothesis

§·¤æ§ü / Unit-IV

4. »é‡æ·¤ âð @Øæ ¥æàæØ ãñU? »é‡æ·¤ çâhæ‹Ì ·¤è
¥æÜô¿Ùæˆ×·¤ ÃØæBØæ ·¤èçÁ°Ð

What is meant by Multiplier ? Discuss
critically the principle of multiplier.

¥Íßæ / OR

×é¼ýæ ·¤è ÂêçÌü âð @Øæ ¥çÖÂýæØ ãñU? §â·ð¤ çÙÏæüÚU·¤
Ìˆßô´ ·¤è ÃØæBØæ ·¤èçÁ°Ð
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What is meant by supply of money ? Explain
the factors that determine it.

§·¤æ§ü / Unit-V

5. ç×ËÅUÙ Èý¤èÇU×ñÙ mæÚUæ ×é¼ýæ ·ð¤ ÂçÚU‡ææ× çâhæ‹Ì ÂÚU
ç·¤° »° Øô»ÎæÙ ·¤è ÃØæBØæ ·¤èçÁ°Ð

Explain the contribution made by Milton
Friedman to Quantity theory of money.

¥Íßæ / OR

ÇUæòÙ ÂðçÅ¢Uç·¤Ù ·ð¤ ßæSÌçß·¤ àæðá ÂýÖæß çâhæ‹Ì ·¤æ
¥æÜô¿Ùæˆ×·¤ ÂÚUèÿæ‡æ ·¤èçÁ°Ð

Critically examine the theory of real balance
effects of Don Patinkin.

———



§·¤æ§ ü / Unit-I

1. çÙ`ÙçÜç¹Ì çßÌÚU‡æ âð Õæ©UÜð ·¤æ çßá×Ìæ »é‡ææ¢·¤
™ææÌ ·¤èçÁ° Ñ

Ü`Õæ§ü
(âð×è) 75 76 77 78 79 80 81 82 83
ÜÇ¸U·¤æð´

·¤è â¢BØæ 6 8 13 18 20 16 10 7 2
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Find the Bowley’s coefficient of skewness
from the following distribution :

Height
(in cm) 75 76 77 78 79 80 81 82 83
No. of
Boys 6 8 13 18 20 16 10 7 2

¥Íßæ / OR

X ÌÍæ Y Ÿæð‡æè ×ð´ ·¤æÜü çÂØUâüÙ ·¤æ âãUâ¢Õ¢Ï
»é‡ææ¢·¤ ™ææÌ ·¤èçÁ° Ñ

X Ÿæð‡æè 17 18 19 19 20 20 21 21 22 23

Y Ÿæð‡æè 12 16 14 11 15 19 22 16 15 20

Find Karl Pearson’s coefficient of correlation
between X and Y series :

X series 17 18 19 19 20 20 21 21 22 23

Y series 12 16 14 11 15 19 22 16 15 20

§·¤æ§ ü / Unit-II

2. çÙ`ÙçÜç¹Ì â×¢·¤æð´ âð y ·¤æ ¥Ùé×æçÙÌ ×êËØ
çÙ·¤æçÜ° ØçÎ x = 70 ãUæð, ¥æñÚU ·¤æ x ¥Ùé×æçÙÌ
×êËØ çÙ·¤æçÜ° ØçÎ y = 90 ãUæðÐ

x y

¥æñâÌ ×êËØ 18 100
Âý×æÂ çß¿ÜÙ 14 20

x ¥æñÚU y ×ð´ âãUâ¢Õ¢Ï »é‡ææ¢·¤ = +.08

( 2 )
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Find out the most probable value of y if
x = 70 and most probable value of x if y = 90
from the data given below :

x y

Mean 18 100

Standard Deviation 14 20

Coefficient of correlation between x and
y = +.08

¥Íßæ / OR

çÙ`Ù ×ð´ ¥™ææÌ ¥æ¡·¤Ç¸Uæ ÂýˆØÿæ çmÂÎ çßSÌæÚU ÚUèçÌ
âð ¥æ¢ÌÚU»ç‡æÌ ·¤èçÁ° Ñ

x 20 25 30 35 40 45

y 60 66 ? 72 75 80
Interpolate the missing figure in the following
by direct binomial expansion method :

x 20 25 30 35 40 45

y 60 66 ? 72 75 80

§·¤æ§ü / Unit-III

3. çÙ`Ù ¥æ¡·¤Ç¸Uæð´ âð çÂÌæ °ß¢ Âé˜æ ·¤è ¥æ¡¹æð´ ·ð¤ Ú¢U»
·ð¤ »ãUÚðUÂÙ ×ð´ »é‡æâ¢Õ¢Ï ·¤è Áæ¡¿ ØêÜ ·¤è çßçÏ
âð ·¤èçÁ° Ñ
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â¢Øæð» ¥æßëçîæ

·¤æÜè ¥æ¡¹æð´ ßæÜð çÂÌæ ¥æñÚU
·¤æÜè ¥æ¡¹æð´ ßæÜð Âé˜æ z®

·¤æÜè ¥æ¡¹æð´ ßæÜð çÂÌæ ¥æñÚU
ãUË·ð¤ Ú¢U» ·¤è ¥æ¡¹æð´ ßæÜð Âé˜æ |~

ãUË·ð¤ Ú¢U» ·¤è ¥æ¡¹æð´ ßæÜð
çÂÌæ ¥æñÚU ·¤æÜè ¥æ¡¹æð´ ßæÜð Âé˜æ }~

ãUË·ð¤ Ú¢U» ·¤è ¥æ¡¹æð´ ßæÜð çÂÌæ ¥æñÚU
ãUË·ð¤ Ú¢U» ·¤è ¥æ¡¹æð´ ßæÜð Âé˜æ |}w

Investigate the association between darkness
of eye-colour in father and son from the
following data by Yule’s method :

Combination Frequency

Fathers with dark eyes and
sons with dark eyes 50

Fathers with dark eyes and
sons with not dark eyes 79

Fathers with not dark eyes and
sons with dark eyes 89

Fathers with not dark eyes and
sons with not dark eyes 782

¥Íßæ / OR



ÂýæçØ·¤Ìæ ·¤è ÂçÚUÖæáæ ÎèçÁ° ¥æñÚU âæ¢çBØ·¤è ×ð´
§â ¥ßÏæÚU‡ææ ·ð¤ ×ãUˆß ·¤è ÃØæBØæ ·¤èçÁ°Ð

Define probability and explain the importance
of this concept in Statistics.

§·¤æ§ ü / Unit-IV

4. çÈ¤àæÚU ·ð¤ âê¿·¤æ¢·¤ ·¤è »‡æÙæ ·¤èçÁ° Ñ

ßáü

ßSÌé 2000 2020

·¤è×Ì ×æ˜ææ ·¤è×Ì ×æ˜ææ
A 10 3 20 4
B 3 4 15 3

Calculate the Fisher’s Index Number :

Year
Commodity 2000 2020

Price Qty Price Qty
A 10 3 20 4
B 3 4 15 3

¥Íßæ / OR

âê¿·¤æ¢·¤ ·¤è ÂçÚUÖæáæ ÎèçÁ° ÌÍæ §â·ð¤ ©UÂØæð»æð´
·¤æ çßSÌæÚU âð ß‡æüÙU ·¤èçÁ°Ð

Define an index number and describe in detail
its uses.

( 5 )
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§·¤æ§ ü / Unit-V

5. çÙ`ÙçÜç¹Ì ¥æ¡·¤Ç¸Uæð´ âð ¥hü×ŠØ·¤ ÚUèçÌ mæÚUæ Îèƒæü-
·¤æçÜ·¤ ©UÂÙçÌ ·¤æð ™ææÌ ·¤èçÁ° Ñ

ßáü çÕ·ý¤è (Üæ¹ G ×ð´)

2000 18

2001 25

2002 21

2003 15

2004 26

2005 31

2006 30

2007 20

2008 35

2009 32

2010 23

From the following data determine the long-
term trend by semi-average method :

Year Sales (in lakh G)

2000 18

2001 25

2002 21

2003 15

( 6 )
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Year Sales (in lakh G)

2004 26

2005 31

2006 30

2007 20

2008 35

2009 32

2010 23

¥Íßæ / OR

·¤æÜ-Ÿæð‡æè çßàÜðá‡æ âð ¥æÂ @Øæ â×ÛæÌð ãñ´U?
§â·ð¤ ÂýØé@Ì â¢ƒæÅU·¤ ·¤æñÙ-·¤æñÙ âð ãñ´U? â×Ûææ§°Ð

What do you understand by Time Series
Analysis ? What are its main components ?
Explain.

———
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§·¤æ§ü / Unit-I

1. ÖæÚUÌèØ ¥ÍüÃØßSÍæ ·¤è ×éBØ çßàæðáÌæ°¡ @Øæ ãñ´ U?
ÖæÚUÌèØ ¥ÍüÃØßSÍæ ·ð¤ çß·¤æâ ·ð¤ ·¤õÙ-·¤õÙ âð
×égð ãñ´ U? â×Ûææ§°Ð

What are the basic characteristics of Indian
Economy ? Explain the major issues of
development of Indian Economy.

¥Íßæ / OR
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çÙ`ÙçÜç¹Ì ·¤ô â×Ûææ§° Ñ

(a) â·¤Ü ƒæÚðUÜê ©UˆÂæÎ ·¤è â¢ÚU¿Ùæ

(b) ÚUæcÅþUèØ ¥æØ ·ð¤ çÙÏæüÚU·¤ Ìˆß

Explain the following :
(a) Structure of GDP
(b) Determinants of National Income

§·¤æ§ü / Unit-II

2. ÖæÚUÌ ×ð´ ÚUæcÅþUèØ ÁÙâ¢BØæ ÙèçÌ ·¤è ¥æÜô¿Ùæˆ×·¤
ÃØæBØæ ·¤èçÁ°Ð

Critically explain the National Population
Policy in India.

¥Íßæ / OR

çÙ`ÙçÜç¹Ì ÂÚU â¢çÿæŒÌ çÅUŒÂç‡æØæ¡ çÜç¹° Ñ

(a) ÖæÚUÌ ×ð´ ÂýßæçâÌæ ·ð¤ ·¤æÚU‡æ

(b) Ù»ÚUè·¤ÚU‡æ ·ð¤ ÎécÂýÖæß

Write short notes on the following :
(a) Causes of migration in India
(b) Consequences of urbanization

§·¤æ§ü / Unit-III

3. ÚUæcÅþUèØ ·ë¤çá çß·¤æâ Õñ´·¤ (ÙæÕæÇüU) ·¤è ÖæÚUÌèØ
»ýæ×è‡æ âæ¹ ×ð´ Öêç×·¤æ ÕÌæ§°Ð

( 2 )
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Describe the role of NABARD in rural credit
in India.

¥Íßæ / OR

çÙ`ÙçÜç¹Ì ÂÚU â¢çÿæŒÌ çÅUŒÂç‡æØæ¡ çÜç¹° Ñ

(a) ÚUæcÅþUèØ ¥ÍüÃØßSÍæ ×ð´ ·ë¤çá ·¤æ ×ãUˆß

(b) ÖæÚUÌ ×ð´ ·ë¤çá ©UˆÂæÎ·¤Ìæ ·ð¤ çÙ`Ù ãUôÙð ·ð¤
·¤æÚU‡æ

Write short notes on the following :

(a) Importance of agriculture in National
Economy

(b) Causes of low productivity in agriculture
in India

§·¤æ§ü / Unit-IV

4. ÖæÚUÌ ×ð´ çÙÁè·¤ÚU‡æ °ß¢ çßçÙßðàæè·¤ÚU‡æ ÂÚU Âý·¤æàæ
ÇUæçÜ°Ð

Throw light on privatization and disinvestment
in India.

¥Íßæ / OR

ÖæÚUÌ ·ð¤ ¥õlôç»·¤ÚU‡æ ×ð´ Üƒæé ©Ulô»ô´ ·ð¤ Øô»ÎæÙ
·¤è çßßð¿Ùæ ·¤èçÁ°Ð Üƒæé ©Ulô»ô´ ·ð¤ çß·¤æâ ·ð¤
çÜ° âÚU·¤æÚU mæÚUæ @Øæ ÂýØæâ ç·¤° Áæ ÚUãðU ãñ´ U?
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Discuss the contribution of small scale
industries in industrialization  of India. What
efforts have been made by the government
for the development of small scale industries ?

§·¤æ§ü / Unit-V

5. ¥æÏæÚUÖêÌ â¢ÚU¿Ùæ âð @Øæ ÌæˆÂØü ãñU? ÖæÚUÌèØ
¥ÍüÃØßSÍæ ·ð¤ çß·¤æâ ×ð´ ÂçÚUßãUÙ ÿæð˜æ ·¤æ ×ãUˆß
â×Ûææ§°Ð

What do you mean by infrastructure ? Explain
the importance of transportation in the
development of Indian Economy.

¥Íßæ / OR

çÙ`ÙçÜç¹Ì ÂÚU â¢çÿæŒÌ çÅUŒÂç‡æØæ¡ çÜç¹° Ñ

(a) ¥æÏæÚUÖêÌ â¢ÚU¿Ùæ ·ð¤ çß·¤æâ ×ð´ çÙÁè çßçÙØô»
·¤æ Øô»ÎæÙ

(b) ÖæÚUÌ ×ð´ çàæÿææ °ïß¢ SßæS‰Ø ÿæð˜æ ·¤æ çß·¤æâ

Write short notes on the following :
(a) Contribution of private investment in

infrastructure development
(b) Development of education and health

sector in India
———



§·¤æ§ü / Unit-I

1. ¥õlôç»·¤ SÍæÙ çÙÏæüÚU‡æ ·ð¤ ¥ËÈýð¤ÇU ßðÕÚU ·ð¤
çâhæ¢Ì ·¤è ÃØæBØæ ·¤èçÁ°Ð

Explain the theory of Alfred Weber of
Industrial location.

¥Íßæ / OR
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ÒÒ¥õlôç»·¤ §·¤æ§ü ·¤æ ¥Ùé·ê¤ÜÌ× ¥æ·¤æÚU Ì·¤Ùè·¤è,
ÂýÕ‹Ï·¤èØ çßîæèØ, çßÂ‡æèØ Áôç¹× °ß¢ ©U“ææß¿Ù
·¤è àæç@ÌØô´ ·ð¤ â×‹ßØ âð SÍæçÂÌ ãUôÌæ ãñUÐÓÓ
ÃØæBØæ ·¤èçÁ°Ð

“The optimum size of industrial unit is
established by coordinating the powers of
technical, managerial financial, marketing risk
and articulation.” Explain.

§·¤æ§ü / Unit-II

2. ÖæÚUÌ ·ð¤ ¥õlôç»·¤ çß·¤æâ ×ð´ âæßüÁçÙ·¤ ÿæð˜æ ·ð¤
Øô»ÎæÙ ·¤è ÃØæBØæ ·¤èçÁ°Ð

Explain the contribution of Public Sector in
Industrial development of India.

¥Íßæ / OR

ÖæÚUÌ âÚU·¤æÚU ·¤è ßÌü×æÙ ¥õlôç»·¤ ÙèçÌ ·¤è
ÃØæBØæ ·¤èçÁ°Ð

Discuss the present Industrial policy of India.

§·¤æ§ü / Unit-III

3. çÙ`ÙçÜç¹Ì ×ð´ âð ç·¤‹ãUè´ Îô ÂÚU â¢çÿæŒÌ çÅUŒÂç‡æØæ¡
çÜç¹° Ñ

(a) ÖæÚUÌèØ ¥õlôç»·¤ çß·¤æâ Õñ´·¤ (IDBI)

(b) ÖæÚUÌèØ ¥ôlôç»·¤ çß·¤æâ çÙ»× (IFCI)

(c) ÚUæ…Ø ¥õlôç»·¤ çß·¤æâ çÙ»× (SIDC)

( 2 )
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Write short notes on any two of the
following :
(a) Industrial Development Bank of India

(IDBI)
(b) Industrial Finance Corporation of India

(IFCI)
(c) State Industrial Development Corporation

(SIDC)
¥Íßæ / OR

ÒÒ¥õlôç»·¤ çßîæ ãUè çß·¤æâ ·¤è ·é¢¤Áè ãñUÐÓÓ
â×Ûææ§° ÌÍæ ÖæÚUÌ ·ð¤ ¥õlôç»·¤ çßîæ ·ð¤ Âý×é¹
âAôÌô´ ·¤æ ©UËÜð¹ ·¤èçÁ°Ð
“Industrial finance is key to industrial
development.” Discuss and also name the
major sources of industrial finance in India.

§·¤æ§ü / Unit-IV

4. ÖæÚUÌ ×ð´ ¥õlôç»·¤ Ÿæç×·¤ô´ ·¤è â¢ÚU¿Ùæ °ß¢ ÚUôÁ»æÚUè
·ð¤ çßçßÏ ¥æØæ×ô´ ·¤æ ß‡æüÙ ·¤èçÁ°Ð
Discuss the structure and different employment
dimensions of industrial labours in India.

¥Íßæ / OR

çÙ`ÙçÜç¹Ì ×ð´ âð ç·¤‹ãUè´ Îô ÂÚU â¢çÿæŒÌ çÅUŒÂç‡æØæ¡
çÜç¹° Ñ

(a) ¥õlôç»·¤ â`Õ‹Ï

(b) âæ×æçÁ·¤ âéÚUÿææ

(c) ¥õlôç»·¤ ·¤æÙêÙ
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Write short notes on any two of the
following :
(a) Industrial relation
(b) Social security
(c) Industrial legislation

§·¤æ§ü / Unit-V

5. ÖæÚUÌèØ ¥ÍüÃØßSÍæ ×ð´ Üƒæé °ß¢ ·é¤ÅUèÚU ©Ulô»ô´ ·ð¤
×ãUˆß ·¤æ ß‡æüÙ ·¤èçÁ° ÌÍæ §Ù·¤è Âý×é¹
â×SØæ¥ô´ ·¤ô ÕÌæ§°Ð

Explain the importance of small and cottage
industries in Indian economy and discuss their
main problems.

¥Íßæ / OR

çÙ`ÙçÜç¹Ì ×ð´ âð ç·¤‹ãUè´ Îô ÂÚU â¢çÿæŒÌ çÅUŒÂç‡æØæ¡
çÜç¹° Ñ

(a) ÜôãUæ ¥õÚU §SÂæÌ ©Ulô»

(b) âè×ð´ÅU ©Ulô»

(c) ¿èÙè ©Ulô»

Write short notes on any two of the
following :
(a) Iron and Steel industries
(b) Cement industries
(c) Sugar industries
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